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No. of Questions : 100

TEl B WA 100
Time : 2 Hours ] : _ [ Full Marks : 300
999 (2 g2 | [ gorfg : 300
Note: (i) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.
IS Jvl &1 g T B TAS W | TRxS 9 3 (@) 3 71 2| FAP
T TR P [T U 3F FIeT G ARG ARG FEH B S
& |
(i) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

e e dafous IR T8 I @ e gdfia &) A PAeea 8 9m 2|

1. Matteo Renzi has become the youngest-ever Prime Minister for which country ?

(1) Austria (2) Greece (3) Italy (4) Venezucela
Hifeal N 59 39 B WaA B IW B guEHEA @ ?
(1) 3z (2) M= (3) geh (4) FrS[Eal

2. Inwhich field of art extraordinary progress was made in the Gupta period ?

(1) Architecture  (2) Sculpture (3) Painting (4) Coinage
TdaTd A Sl @ fba &3 3 e gafd g8 i ?
(1) arsgder (2) Hfdwen (3) fa=®en (4) foas g

(3) P.T.O.
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3. Which one of the following is cbrrectly matched ?
(1) Brahmo Samaj - Annie Basant
(2) AryaSamaj - Lala Lajpat Rai |
(3) Ram Krishna Mission -  Keshab Chandra éen
(4) Theosophical Society -  Vivekanand

Pt 3 & #aa v wh gt & 2

(1) & &I - e
) a3 ¥ - e S
@ mpm P - W T A

(4) Raifrea drrgd - fRom=

4. Theoldest Vedais:

v

(1) AtharvaVeda (2) Rig Veda (3) Yajur Veda  (4) Sama Veda

HeQ RO A 2 -
(1) sad (2 W (3) g (4) wmT

5. THe entry port for trade between the Indus trading centres and Mesopotamia
was :
(Il) Elam (2) Oman (3) Behrain (4) Afghanistan
Regareim (Fosw 2R d=) ar @ @ Mo ¥ aur 2g e
JEIME 91

(1) o™ (2) A= (3) T (4) IHEMRATA

(4)
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6. Where did Aurangzeb die ?
(1) Agra _ (2) Asirgarh
(3) Daultabad (4) Ahmadnagar
IRTIR B gog wEf g M ?
(1) s (2) ¥R o ¢
3) Qde@EE .  (4) IEETR

7. Which factor influenced most to eliminate caste-system in India ?
(1) Rationalism (2) Job Opportunities
(3) Legislations (4) Liberal Education
SR e @ T A B BE Y T T P S 2
(1) d@ar 2) A B atam

_ A

(@) @ (4) wa fan

8. Which organization had proposed first to constitute the Constitution Assembly

to form the Indian Constitution ?
(1) Swaraj Party in 1928 e
(2) Indian National Congress in 1936
(3 Muslim League in 1942

.(4) By all parties convention in 1946

(5) P.T.O.



14P/291/6

FH-Y wTen 3 |wdvem SR T @ ARdg | @ fata @ e wfea wwA
&1 yIE wRaa fban ?

(1) 1928 % =1 9Tl 4
(2) 1936 # W I FUAF A
(3) 1942 % g™ & 3
(4) 1946 A |dTAT ERI

9. During the Indian Freedom Struggle, who of the following founded the

Prarthana Samaj ?
(1) Atmaram Pandurang
(2) Gopal Hari Deshmukh
(3) Ishwar Chandra Vidyasagar
(4) Keshab Chandra Sen
YRR aEa WU @ aRE e F |/ e s i @ v fear e ?
(1) IMHARM TIGT A
(2) Mo &R T A
(3) IR w= famrR A
(4) B¥@ g 89 3
10. 'Ratti’ used by jewellers is obtained from seed of a :
(1) Gymnospermous plant (2) Angiospermous plant

(3) Algae (4) Fungi
(6)



11.

12.

13.
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NIV Ao & ar &R @Y wra frar e @
(1) gadah i @ o1 | (2) Igadch o @ f9 A
(3) e |/ 4) ®a5 A

During whose tenure as the Viceroy of India were the great martyrs Bhagat
Singh, Sukhdev and Rajguru hanged ?

(1) Lord Curzon (2) Lord Irwin
(3) Lord Minto (4) Lord Chelmsford

R 3 W TaeE @ W e e aa R gade Ik o @ e
R ACHIT TAT AT ?

(1) a8 FoiA (2) =2 3fd=
(3) @ fA=e (4) A AHIE

Even though India became independent in 1947 but Daman and Diu remained

a European colony till 1961. Which country ruled over it ?

(1) France (2) Britain (3) Netherlands  (4) Portugal

Tafd f& ¥Ra 1947 ¥ srene B T W eWT @ R 1961 a@ QA2 Sufaw o
fa 29 3 389 w® a2

(1) w (2) = (3) AeRve (4) g
The founder of Boy Scouts and Girl Guides movement was :
(1) Charles Andrews - (2) Robert Montgomery

(3) Richard Temple _ (4) Baden Powell

(7) P.T.O.
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14.

15.

16.

Tl @ foy wrse U9 wefdal @ fIy e FimH B WIS A

(1) arcd qosRyga (2) e HieM

3) Rug 2= (4) ST G

Chanakya was kn_own as:

(1) Bhattasvamin (2) Rajasekhara

(3) Vishnugupta (4) Visakhadatta

ATOTF Y ATAT STl AT

(1) YeewifAd & A | (2) IoRRERT B A A

(3) Rwpra @ 1 A (4) fReraed @ 9M |

Who among the following is not associated with medicine in ancient India ?
(1) Dhanvantri (2) Bhaskaracharya

(3) Charaka (4) Susruta

e & ¥ B9 o= wRa 3 il | wefua 78 2 ?

(1) ga=Td (2) “rBTETd

(3) = (4) gy

Among the four works mentioned below which one is encyclopaedic in nature ?
(1) Amarakosa (2) Siddhantasiromani

(3) Brihad Samhita (4) Ashtangahrdaya

(8)



17.

18.

et aftfa ar % | o Reaaria sofy @ & 2
(1) srR@r (2) FrgroRR

(3) gg< Hfga (4) IrcATEREAT

The foundation of modern education system in India was laid by :

(1) The Charter Act, of 1813

(2) Macaulay's Minutes of 1835

(3) The Hunter Coﬁmﬁssion of 1882

(4) Wood's Despatch of 1854

IRA § IS R araxen & g @ o
(1) 18133 [k Vae I

(2) 18353 ¥ @ e 3

(3) 1882 @ gvex HHvA A

(4) 1854 g w3 |

The earliest rock cut caves in western India are those at :
(1) Nasik, Ellora and Ajanta

(2) Junnar, Kalyan and Pitalkhora

(3) Ajanta, Bhaja and Kondane

(4) Bhaja, Pitalkhora and Kondane

(9)

14P/291/6

P.T.0.
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19.

20.

ol YRA § IRME TRRT B FeaR T T THE o

(1) TR, TaRT R o= 2) FR, T AR Rem@™
(3) ST, WTSAT Q@ BIeM (4) wrom, ReredRT, BRE™
What is the name of the Fort built by the English in Kolkata ?

(1) Fort St. David (2) Fort Victoria

(3) Fort William (4) FortSt. Andrew
Fordedl ¥ U g gard 1A fha &1 @@ A R ?

(1) B J< M (2) ©r¢ feRar

(3) »re faferas 4) B d< TRy

C. R. Das and Motilal Nehru formed the ‘Swaraj Party"' after :

(1) Swadeshi Movement |

(2) Quit India Movement

(3) Non Cooperation Movement

(4) Civil Disobedience Movement

Ho R0 T IR ANATA Fg® A TR G F TS fbaAr o ¢

(1) w@RM == & g

(2) MRE BIE <A B ¢

(3) JTEAT AI[IAT D GIS

(4) wRa srasn AR B 918

(10)



21.. The writ of 'Habeas Corpus' is issued in the event of :

22,

23.

(1) Loss of Property

(2) Refund of Excess Taxes

(3) Wrongful Police Detention

4) | Violation of the Freedom of Speech
Ty afyet Prfa & o 2
(1) vufty & JHaH W

(2) 3s FR aTE A B fag

(3) gfer @& gRT Tod @1 /A BT I W
(4) Il & waFId P Ieoiga W

First Railway Line in India was made in :

WRA ¥ Fd9H Yed A3 9918 TS

(1) 1835 (2) 1853 (3) 1917

The British introduced the railways in India in order to :

(1) Promote heavy industries in India

(2) facilitate British Commerce and Administrative control

(3) move foodstuff in case of famine

(4) enable Indians to move freely within the country

(11)

14P/291/6

(4) 1923

P.T.O.
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fafew & wrRa ¥ W A A =@

(1) ¥Ra ¥ M AN A wET @ g

2) fRfe @R & T T wET R A @ fog
(3) I @ v @ "l ugu & fag

(4) ARt B 2w ¥ wWAA w4 F I GA B fog

24. Which of the following days have been proclaimed as "International Literacy
Day" by UNESCO ?

(1) September 8 | (2) September7  (3) September 6  (4) September 5

Pr R A A e R & v @ g1 oI weRan Raw afta fear
T2 ? -

(1) 8RR ) 7 R (3) 6 famR (4) 5 R
25. Wihdow is to pane as book is to :

(1) Novel (2) Glass

(3) Cover . (4) Page

M Rasdh M @ vor 3 fog 2 B & gws -

(1) Sy @ fag 2 (2) ™ & fog 2

3) fr=e & fag 2 4) ¥ & fog 2
26. Cup is to coffee as bowl is to :

(1) Dish (2) Soup

(3) Spoon (4) Food

(12)



27.

28.

29.
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TR T I D fore & AN & weny
(1) awad @ oo @ | (2 U @ forg %
(3) aom @ fag 2 (4) @A P e

Reptile is to lizard as flower is to -

(1) Petal (2) Stem (3) Daisy . (4) Alligator
A TG DT S R & 4 & o @ Rrg _ |
(1) 9gd 2 (2 ame (3) M (4)@&35{%.

Secretly is to openly as silently is to :

(1) Scarcely (2) Impolitely

(3) Noisily (4) Quietly

O Mo gaem @ g @ &R & Praar -

(1) gehmn @ forg 2 (2) sfrem & fog &
3) g @ fg @ (4) wfa & forg &

Guide is to direct as reduce is to :

(1) Decrease " ) Maintain

(3) Increase _ (4) Preserve

W P P S R ¢ W @ e

1) a3 fg 2 (2) =W v B forg &

@) T @ forg 2 (4) wRew B e &
(13) ' P.T.O.
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30. Poles:Magnet::?: Battery

(1) Energy (2) Power 3) Termir;als (4) Cells

(1) it (2) g (3) e (4) Aew
31. Architect : Building :: Sculptor : ?

(1) Museum (?L_S_tit}ii (3) Chisel (4) Stone

(1) | ) S 3) T@r (4) TR
32. Bankis related to Mo-ney in the same way as Transport is related to :

(1) Traffic (2) Goods (3) Speed (4) Road

¥ & gEd g4 | 2 SH ueR aRagd wefid @

(1) s A (2) AT | (3) fa | (4) I<F A
33. FLEXIBLE : RIGID :: CONFIDENCE: ?

(1) Diffidence (2) Indifference (3) Cowardice (4) Scare

d © BOR ¢ THfdTETy . ?

(1) oA (2) ST (3) ®raxan (4) JTeEH
34. NECKLACE : ADORNMENT :: ?

(1) Med.al:Decoration (2) Bronze: Medal

(3) Scarf : Dress (4) Window : House

(14)



35.

36.

37.

BTG : AABRYT ¢ : ?
(1) %< : gorae

3) =% : N
WORK : MOTIVE :: ?
(1) Body : Mind

(3) Body : Food

B ;3RO - ?

(1) MR : 77

(3) MR : Ao
SUNFLOWER : LIGHT :: ?
(1) Torch : Battery
(3) Ink: Print
WA - g ?
(1) < : I

(3) wré : Bsug

AUTHOR : MANUSCRIPT :: ?

(1) Optician : spectacles

(3) Architect : blueprint

(15)

2) #9F : A
(4) Rega : w

(2) Wall: Paint

(4) Petrol : Car

(2) fRara : w1

(4) 9O BR

(2) Scholar : Books

(4) Mould : Humidity

(2) fRegm : fam

(4) @r=m : mgan

(2) Engineer : bridge

(4) Doctor : stethoscope

14P/291/6

P.T.O.
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gs : grogfaf : o ? _
(1) TR : o (2) = : g«
(3)Wm (4) |TdcR : ATAT

38. TALLY:VOTES: ?

(1) census: population (2) government : laws
(3) taxation : revenue (4) team : athletes
&M dewc ?

(1) ST - ST (2) PR : B

(3) T © G (4) & : Raedr

39. Radical is related to Moderate in the same way as Revolution is related to ........ .
(1) Change (2) Chaos (3) Peace | (4) Reformation
ferardl &1 Waw AEeel @ ¥ W gHR Hif Hafd ®
(1) gRada | (2) fiwma | (3) mfa | (4) QuR A

40. Mouse is related to Cat in the same way as Fly is related to ........... .

(1) Dog ) Horse (3) Spider (4) Rat
R T FaY e A 2 9 yoR AR wafka @ -
(1) @ |/ (2) =S @ (3) S | @) 9

41. Much is related to Many in the same way as Measure is related to :

(1) Weigh (2) Measures (3) Calculate (4) Count

Ffod o1 e F3 ¥ & IW yHR 99wk R

(1) da A (2) 9= |/ (3) Ry am A (4) o }
(16)



42,

44,

45.

486.

SCD, TEF, UGH, ..........., WKL.

(1) CMN 2) UJI 3) VI

(1) #eg= (2) goamg (3) P
B2CD, ........., BCD4, B5CD, BCéD.

(1) B2C2D (2) BC3D (3) B2C3D
L1751 AU R84, A5, fM6d |

(1) d2EnH 2) d3S (3) ¥
ELFA, GLHA, ILJA, ........., MLNA.

(1) OLPA 2) KLMA (3) LLMA
$TCTHY, ATATHAY, STV, <........, THTSATN |

CMM, EOQO, GQQ, .........., KUU.

(1) GRR (2) GSS (3). ISS

P5QR, P4QS, P3QT, ........., P1IQV.
(1) PQW (2) PQV2 (3) P2QU
Q5TgIR, N4agua, M3FgLy, ... , dragd |

(1) ageey (2) dragdn (3) M2agyg

(17)

14P/291/6

(4) IJT

(4) smEerd
(4) BCD7
(4) dRE7
(4) KLLA
(4) PTATT
(4) ITT

(4) g
(4) PQ3U

(4) 93y
P.T.O.



14P/291/6

47.

49.

50.

51.

Which word does not belong with the others ?

(1) Inch . (2) Ounce (3) Centimeter
P iYaN o @ gy 7 272

(1) ¥v (2) IS (3) J¥=rieR
Which word does not belong with the others ?

(1) guitar (2) Flute (3) Violin
fre 3 @ o o @ wefaa 78 2 ?

(1) frer (2) g (3) arafe
Which word does not belong with the others ?

(1) Cornea (2) Retina (3) Pupil
= 3 1 o o= @ wefa 78 2 °

(1) PRfw (2) fem (3) faw
Which word does not belong with the others ?

(1) book (2) index (3) glossary
e 3 @ o o1 @ wafua 98 2 ?

1) g&® (2) feraT (3) w=HTE

AZ,CX, FU, ....... .

\./(1) IR (2) v 1(3) JQ

(1) IR (2) R 3) sy

(18)

(4) Yard

(4) T

(4) cello

(4) |d=N

(4) Vision

4) 3fe

(4) chapter

(4) 3reuiy

(4) KP

(4) N



52.

53.

54.

55.

56.
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T,R,P,N,L,2,?

(1) ]G (2) JH (3) KH 4) K1
A R @ T 2 ? _

(1) s (2) S.ya (3) B.wa (4) @33
BD, GI, LN, QS, ?

(1) TV (2) UW (3) WX (4) VX
A, e, vereH, agua, ?
(1) a@ (2) ge=g (3) S=guad (4) doas

AB, DEF, HIJK, ?, STUVWX
(1) MNOPQ (2) LMNOP (3) LMNO (4) QRSTU

), B, TANEND, ?, TGS |
(1) A fiag. (2) TAUATAN®  (3) ToIUHUASA (4) FgIRTHEY

The concentration of pollutants in atmosphere are generally exposed in :
(1) parts per million (2) parts per billion

(3) parts per trillion (4) milligram per meter
RS A SEH A A B A o A o

(1) o wfa fRferas A (2) 3w gfy fafera= 3

(3) o wfy fefera = (4) fferam afy Arex 3

Which one of the following pairs is not correctly matched ?

Census Year Sex ratio in Ina_'ia
(1) 2011 940
(2) 1991 927
(3) 1971 930
(4) 1951 956

(19) P.T.O.
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57.

. 58.

59.

sufafea gl 4 § B0 e 98 gafea 78 2 ?
T yrd o formgara

(1) 2011 - 940
(2) 1991 . 927
(3) 1971 930
(4) 1951 956

Which country waon the Confederations Cup, 2013 ?

(1) Italy (2) Spain (3) Urugway (4) Brazil
HHSVIH &Y, 2013 R 291 3 <t 2
(1) g (2) |F (3) v¥d (4). aTitet

President Pranab Mukherji presented the Tagore Award for Cultural Harmony,
for the year 2013 to :

(1) Bhimsen Joshi (2) Zakir Hussain
(3) Zubin Mehta (4) Pt. Ravi Shankar
IAfa gorE Al A ARpie wERE (@RA), 2013 @1 SR [RR B9 R

o ? i

(1) AR (@) v gd=

(3) feA #gan (4) Yo MAwaw

Who has won Women‘; Single Titles in the US open 2013 ?

(1) Serena Williams (2) Venus Williams
(3) Victoria Azarenka (4) Maria Sharapova
4 T 3T 2013 &1 AT U Raara fra ofrar o 2

(1) @ ffda=s 2) d=a faferr=a

(3) faaiRar sr=e (4) R@ s

(20)
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- 80. National Income in India is estimated by the :

61.

62.

(1) Expenﬁiture method . (2) Income method

(3) Product method (4) Product and income method
ARa ¥ I AT & e frar v B

(1) ag fafy g (2) ama Ry gmr

(3) SR fafy grr (4) Swe T4 Iy Ay gm
Who took over as the 23rd Governor of the Reserve Bank of India ?

(1) K.C.Chakraborty (2) Raghuram Govind Rajan
(3) C.Rangarajan (4) Bimal Jalan

WRd 3 Rud & 3ife 3sar &1 2347 TaR &1 92 4R e veor fFar ?
(1) Bo Ao gmpadi (2) TERM M Yo

(3) o TR (4) fma sem

Which movie has bagged the best picture award at the 86th Oscar Awards,
201427

(1) American Hustle (2) Frozen

(3) 12 Years A Slave (4) Gravity
ﬂmaaﬁjﬁssﬁaﬁﬁﬁ.ngzmﬁmmaaﬁaﬁmmﬁmm?
(1) sRT= ¥aa (2) W

(3) A= 3TE T W@ (4) A e
(21) - ~ PT.O.
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63.

" 84.

65.

Recently, with which country India has signed agreements on “Green Encrgy

Corridors"?
(1) USA (2) Japan (3) Russia (4) Germany

g ¥ & WRA 7 5w 2w B W WA gl PRSIy (THAT) WO ERIRER
fpar 2 ?

(1) R (2) A (3) ws (4) W

The Union Government has recently launched the "Maulana Azad Sehat
Scheme" for :

(1) Minority Students (2) Minority Women

(3) Minority Senior Citizens (4) Minority Disabled Persons

g A & 3= WBR A A aroe dgd @ ar fear @

(1) vrerwers Tt B B Ry () s o @ st 3 R
(3) srerEs T B qat @ frg (4) sreTvEms T B s A @ R
Who has been appointed as brand ambassador for Central Reserve Police
Force ?

(1) M.C.Mary Com (2) Kiron Bedi

(3) Sania Nehwal (4) P.V.Sindhu

fea a=ra Rad gfera o1 &1 ave spgsy @@ mn mar & 2
(1) THo Ao ¥ &M (2) = 38

(3) W gara (4) o do Ry
| (22)
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Directions : (Question Nos. 66 to 70) : Read the passage given below and answer questions
66 to 70 according to the contents given in the passage :

If our anticipations are working, we will realize now that the world food problem,
already inadequate for the majority, will increase in direct proportions to the number
of people to be fed. Within ten years, the world's population may be in excess of four
billion, of which Communist China will alone account for one billion. The
demographers tell us that within sixty-five years, at the present rate of population
expansion, people may be crushed to death for want of standing room.

Forces are working in the contrary direction, to be sure, but they offer no solace.
World nuclear war, if it comes, would no doubt reduce population pressure to the

point where both the problem and the people might vanish altogether. -

Hero too, we need anticipation. Within six to ten years, a dozen countries or more will
have nuclear explosives at their ready disposal. Moreover, nations unable to make
them will be able to buy them. The basic law of behavior that applies to individuals --
namely that the possibility of error increases in direct proportion to the number of
people involved -- also applies to nations. The greater the number of nuclear fuse
points in the world, the greater the danger that one of them could go off by accident of

design, setting off others.
66. The world food supply at the moment is :
(1) satisfactory (2) barely sufficient
(3) insufficient (4) pretty strong
67. The world population figures may cross the four billion mark within :
(1) six years (2) ten years

(3) six to ten years (4) sixty-five years

(23) P.T.O.
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68. Within six to ten years:

70.

Directions : (Q. Nos. 71 to 75) : Read the passage given below and answer questions 71 to 75

(1) people may be crushed to death for want of standing room
(2) both the problem and the people might vanish altogether
(3) more countries will be able to manufacture or acquire nuclear weapons

(4) the basic law of behavior will become operational

The basic law of behavior postulates :

(1) the more, the merrier

(2) the more the people, the greater the possibility of error

(3) the more the people, the less the standing room

(4) the more the mouths to be fed, the more serious the food problem
Demographers deal with :

(1) the food supply (2) the population growth

(3) the nuclear energy crisis (4) the future of the world

according to the contents given in the passage :

which they get better jobs, so to subsidize their education means assisting the
potentially rich at the expense of the poor. Why should the lad or lass who cannot get
into university and chooses to set up a small business have to borrow capital, while

their more intellectually gifted brother or sister obtains capital free financed by the

Students go to university to develop skills and obtain knowledge, as a result of

taxpaver?

(24)
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Students should pay their own way through university, and universities should
charge them a fair price for their services. Loan facilities should be on offer from the
Government - a system which works well in other high income countries and
certainly doesn't deter the poorer students — especially when repayments take into
account personal circumstances. Those who enter less well-paid occupations may
repay less than those who hit the jackpot. This would save government money, which
could then be channeled into more urgent educational p.rojects -- such as supporting

families whose children would otherwise have to leave school to earn money.

71.  In this passage, the writer pleads that :
(1) the state should subsidize university education
(2) university education should bg free for all citizens
(3) there is no need for university education in poor societies

(4) students should be made to pay for university education

72, The loan facilities will help the poor students in higher education because :
(1) they will not have to repay it
(2) they will be charge normal interest on it
(3) they will not be charged any interest on it

(4) the repayment will be adjusted according to their repaying capacity

73. The money earned by the government in the universities :
(1) could be channeled back to higher education
(2) could bécome a partl of the national exchequer
-(3) could be used to subsidize poor school students

'(4) could be used to improve the conditions of the poor
(25) ' P.T.0.



14P/291/6

74.

75.

76.

78.

79.

The phrase ‘hitting the jackpot’ means :
(1) getting a meager salary (2) earning a fortune

(3) hitting a clay-pot (4) being a jobless person

The kind of prose used in this passage is :

(1) argumentative (2) narrative (3) poetical (4) colloquial

If GHAZALS are coded as 6051534 and MUSIC are coded as 27489, how can
SILICA be coded ?

7t GHAZALS &' wafea f&ar wmar % 6051534 @ &9 ¥ 3Rk MUSIC &' |gfea
frar wmen & 27489 @ w9 ¥, W@ SILICA & 3F wgfed f&ar o waar & ?

(1) 487895 (2) 493985 (3) 483895 (4) 483859

If BEIJING is coded as 2503079 and PARIS is coded as 41608, JAPANESE will be
coded as :

afe BEIJING & ¥&fed far Sman 2 2503079 @ w9 & 3R PARIS &1 I&fed fdar
ST 2 41608 B U H, 4 JAPANESE & "@aqfea f&ar smem 2

(1) 31417585 (2) 31415785 (3) 34115785 (4) 31417558

If KETTLE are coded as 619921 and SAUCER are coded as 38710, how can

SEATTLE be coded ?
AN

afe KETTLE & dafed f&ar wmar € 619921 @ w9 ¥ 3R SAUCER & dafed
far S 2 38710 % ®9 #, 94 SEATTLE & &\ w9 # wafea fdar som 2

(1) 5319912 (2) 5139941 (3) 5{39911) (4) 5319921
If OFFICE are coded as 422168 and CERER_ are coded as ?8;1857, how can
g..AIF_. be coded ?

afe OFFICE & Wqfed fdar Smar 2 422168 & wu ¥ 3R CEREAL @ dafed
forar wmar 2 683857 @& w4 ¥, @@ CLAIR & f&e w9 ¥ wapfea far smem ?

(1) 67153 v(2) 67513‘/ (3) 67512 (4) None of these

S ————————

(26)
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82.

83.

84.
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If CHARAN are coded as 523634 and BHAJAN are coded as 723834, how can
CHANANA be coded ?

‘UﬁCHARANﬁ%%m%s%m%mﬁaﬂ?BHA]ANﬁﬂﬁﬁ
far Srar 2 723834 @ w9 A @9 CHANANA & f&a w0 § Safed Ryar smem 2

(1) 5234433 (2) 5243433 (3) 5234343 (4) 5324243

A meter is taken to equal 39.3701 inches. If the value is approximated to 39
inches, the relative percentage error is :

wﬁha393701w%m%mm?nuﬁmqmaﬁws%’osama
foran s & srafe &1 qerTeTe wfrea @

(1) 5% (2) 0.5% (3) 0.05% (4) 0.005%

The compound interest on a certain sum at 5% for 2 years is Rs. 328. The simple
interest for that sum at the same rate and for the same period will be :

fet s A % Af 1 AWy @ 5 ufea # w® V2 9 B g 328 To B
S TR W I R J S af B forw wmRer @t @

(1) 320 (2) T322 (3) ¥325 (4) T 326

The average age of a class of 35 students is 15 years. If the teacher's age is also
included, the average increases by one year. Age of the teacher in years is :

U& 3l & 35 BT A 3fwa amg 15 af 2| afk 30 A spamme A oy N o @
WY @ AT 1Y 7 € 7@ T B | A snags A g ant A

(1) 36 : (2) 41 (3) 51 (4) 56

A man rows up-stream 13km and down-stream 28km taking 5 hours each time.

The velocity  of the current (km/hour) is :

% afdm fawdia a1 ¥ 13 frafier & 1fy ¥ ok ar A Ren ¥ 28 Rrarder &

nﬁﬂwﬁmmwm? mmswm%fmaﬁnﬁ(ﬁm’rﬁauﬁ
v guen) ?

(1) 05 ) 1 3) 15 . @) 2
(27) P.T.0.
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85.

87.

89.

Two trains start from Stations A and B and travel towards each other at speeds
of 50 km/hour and 60 km/hour respectively. At the time of their meeting, the
second train has travelled 120km more than the first. The distance between A
and Bis:

azﬂ@mAamBﬁaa?hﬁmw-qﬂiaﬁmm:soﬁﬁM\anﬁm
@wﬁﬁﬁﬁauﬁfwaﬁwﬁﬁm%‘lﬁ%ﬁaﬂma%quaﬁ
zﬂﬁmeﬁaﬁgﬂmﬁlmmmﬁﬁmaﬁlfﬁAmﬁﬁmqﬁ%:

(1) 990 km (2) 1200 km (3) 1320 km (4) 1440 km
A can do 2 of a work in 12 days. He can finish § of the work in how many
days?

A o T B @1 3 e 12 R X axan &1 o o @ Lo 78 e R
¥ QR ST ?

1) 4 @) 8 3) 12 4) 16

The diameter of a sphere whose volume is 179% cubic meters is [n = 2] :

7

& g, R S 1792 Ffas AR B, &1 A [n=27_2):

(1) 3.5meters  (2) 7 meters (3) 10.5 meters (4) 14 meters

Three cubes of iron whose sides are 6 cm, 8 cm, and 10 cm respectively are
melted and formed into a single cube. The edge of the new cube formed is :

& e @ age R Yot FEe 6 ¥, 8 At sk 10 ¥ | Reerd w8
MR SR U e FE T A | T T B e

(1) 12em (2) 14 cm - (3) 16cm (4) 18 cm
How many edges does a cube have ? -
s q@ A R gomt ad & ?

1) 4 @) 8 3) 12 @) 16
(28)
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a
80. A wire, bent in the form of a square, encloses an area of 484 cm2. If the same

wire is bent so as to form a circle, then the area enclosed will be (n = 172-] :

(& IR & AISIR (& AR - ST & o) 5 484 cm? &3 ORen &1 R S
Hﬂﬁmwwmma\m:mﬁwwmm(m%)

(1) 484 cm? (2) 5382 cm? (3) 616 cm? (4) 644 cm2
L

91.  Which of the following fractions is less than Z and greater than 1 ?

Frer 3 @ B B 29 a9 1@ 1 @ e g 2
1 23 11 17
m 5 @ = e - @ -

Directions (Q: Nos. 92 to 96) : Questions 92-96 present each sentence broken into four parts.
Choose the part that has an error and mark its number as your answer :

92. (1) The Election Commission (2) said long queues of

(3) men and women were seen A at ail constitugmey's
93. (1)1 never‘thqught of _ (2) doing film's ‘

(3) and was always | _ (4) obsessed with gricket
94. (1) "Youcanbe as racist - (2) as )Irou want, as long

(3) as you keep your (4) mouth shut,'says Barnes
95. (1) Thecity ones at the (2) center of the S)Izrian

(3) uprising is being evacuated (4) following a truce
96. (1) Thisis certain (2) avery significar?t:

(3) development . (4) on several basis

(29) P.TQ
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97.

The average of five items is 45. By mistake one of the items is taken as 25

instead of 20. Find out the correct average :

dfg uel @1 akad 45 2| TAd | Ta ug 20 A o 25 o form Gwan @1 W aikid
&1 gl AN -

(1) 44 (2) 42 (3) 40 (4) 43 -

Directions (Q. No. 98 to 100) : In the following questious, sentences have been given

with blanks to be filled in with an appropriate word (s). Four alternatives have been

suggested for each question. Choose the correct alternative :

99.

100.

Contrary ................. my father's expectations, I did quite well at the job.

(1) from (2) to (3) of (4) upon

Their arguments being at cross ................. will in no way lead to fruitful results.
(1) purposes (2) roads (3) 'intention (4) bar

Changes in the legal system are inevitable because we are not working for a

.................. society.

(1) backward (2) dynamic (3) stagnant (4) modern

(30)
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